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Pondére les équations suivantes :

. Al(OH)3 + H2S0O4 = Al2(SO4)3 + H20
. KNOz = K20 +N20 +O2

. C +Fex03 2 Fe + CO2

. Sg + O2 = SO0:

. Mg + HBr = H> + MgBnr
. NHz + H2SO0s =» (NH4)2S04
. Cu2S + Cu20 2 Cu + SOz

. CHs +H0 = CO2 +H:2

HI + Cl, = |, + HCI
AUuCl = Au+ Cls
NaO + H20 = NaOH

CHs+ O2 = CO2+ H20

Al + HBr = AIBrs + H>

NaCl + H,SO4 =HCI + Nax;S0Oq4

MnO2 + HCI = MnCl. + Clz

HCl+ O, = Cl. + H20
HNO3s + SO> = H»S04
NHs + O2 = NO +H20

CO + FesO4 = CO2 + Fe

CaCOs3 + HClI=» CaCl, + H.0 + CO2



